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v—FK 9/13(%£) 9/20 (£) 9/21(8)
[1:3ivd BEEFD BEEFD b3 g
1R 2R 3R 4R SF F
-I 1 YR 8% 19. (HLTC)
=H B 19.(HLTC) } I
2 bye
5 Bl EE 18 Gro k. 42) 10:50
EH % 18. (Fy k. 41V) 9:30 []
4 B A 10 (HET ) :
EE 38 10. (HETY) 9:30
5 FER 5 2. (FvLod) ’
A EEA 2. (Fr L) 9:30
g MEX EX 06. (R5—TC) i
hiE B 06. (R#—TC) 10:50
7 bye
1 5 ) MR fti— 08. (F+>XTC)
ZR ER 10. (HETY)
1 'I 9 HE N 18. (ry b, 1)
BIL R 10. (BAETY)
10 bye '
11 B X 12 (BOETC) 10:50
NI EX 12. (BOETC) 9:30
12 HEHE B— 23. (Fr L) )
Hep 8% 2. (Fr L) 9:30
13 Bl Eth 23. (Fr L) ’
FER 2. (FrL D) 9:30
14 BmE 2 03. (7>Uvw) )
RE HE 03 (721 ) 1050
B 15 bve
RE S I 05. (FEAT C) }
2l BR 10. (HETY) 9:55 I
4 *IJ 17 PE —F 11. (FATC) :
Rl B 11. (FATC)
® 18 bye '
g BE ¥ % U7=2557) 10-50
g R 2, JT=RAH5D) 9:30
20 &Il Rk 08. (Fv¥ > XTC) )
WA EF 08. (F¥ >~ ATC) 9:30
21 BHF EEX 10. (HETY) ’
TH#E X 10. (HETY)
22 bye
10:50
23 bye
16 o4 FEE 08 (F¥~RTC) }
£k WE 08. (F¥ >~ ATC)
-I 2 o5 Nk —HE 10. (BHETY)
A B 10. (HETY)
26 bye '
57 B EE BT 10:50
&k R1T 03. (7> 1Uv) 9:30
28 1 BE 10. (HETY) )
A EABL 10 (BETY) 9:30
0g HA BE 08. (Fvr2ATC) ’
ERAR EA 08. (F*+>~RTC) 9:30
30 EL RPN 10. (HETY) )
31 bye
7 32 R FE 2. (F4 R 3w b)
0O B 2. (F4RxY3 v b)
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ER 10. (AETY)
50 bye

11:30

v—FK 9/13(%£) 9/20 (£) 9/21(8)
JIE 1L BEEFD BEEFD b3 g
1R 2R 3R 4R SF
6 33 L =— 03. (F>Uw)
AT 3hz 03. (F>UY)
34 bye '
25 Al B B FrLUY) 11:30
A& RAX 09.(T. 0. P) 9:30
36 R E— 05. GREARTC) )
AR BE 05. FIEKRT C) 9:30
37 [3ZSIRES 4 22. [ERHKF) ’
H)I| EB 2. (FrLvD) 10:10
38 EE wE 09.(T. O. P) )
ESLIIR 17N 09.(T. 0. P) 11:30
39 bye
9 40 =8 Edh 10 (BET ) }
Ak E 10 (BET )
14 4 AT Wk 18. (ry b, 1)
dbi HeE= 23 (FrLod)
42 bye '
13 BF A% B FYLUY) 11:30
$H 5 2. (Fr L) 10:10
44 [T 22. (BKHKF) )
EE 13 HFOETC) 9:30
45 B st 13. (FOETC) ’
A & 13. ROETC) 10:10
46 AR EA 2. (FrLrd) )
A 2 B (Friyy) 11:30
B 47 bve
EFH fE 09.(T. 0. P) 9:55 II
8 *u 49 !IID RX 10. (HETY) '

51 B £t 11. (FATC)
HNE F= 11. (FATC) 10:10
59 thE F 18. (Ry b, 1) )
B0 F£45 18. (ry b, 1Y) 9:30
53 N 07. (V=—EX) '
WA —= 06. (R2—TC) 10:10
54 EIffE #X 19.(HLTC) )
Bk i 19.(HLTC) 12:10
55 bye
10 5g Bk BE 07 (V=—TEA) }
Eif FiZ 07. (V=—EX)
‘I 3 57 #Fﬁ £25 18. (Fw k., 412)
T sk 18. (ry b, 41V)
58 bye
5o WIF AE 0. (HEF5) 12:10
T Bz 10. (AETY) 10:10
60 g & 23. (Fr L) )
B =N 2. (Fr L) 9:30
61 A TR 18. (Fy b, 1) :
WiE gk 18. (Fv b A) :|]0.50
62 LR BE’A 2. (FrL D) )
TEE Ak 2. (Fr L) 12:10
63 bye
2 64 R H IEE 2. (F4 R a v b)
B 2. (F4RxY3 v b)
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